il
W
St
%
I

1. TE4
THE4 REAR2 085 KEEEBTEHL (P7) AATH
THEHA REA IR R 7 K S5 T 3t
2. THEHNE
1) HEI4 HEEREEE G LER
2) £ I & W - JEEAEEY T H
3) T i 256 H [ H F0 T4 1A 18H
= SFn T 9H30H
4) TEyE

ELAma  JuN TR )R




B
T
iy
i
I

TH4 | ER208% KEEEBGFHL (P7) 40 LF
TEHEX Sy - THE - R B {7 % & A bl A iR
&G TR =X 1 118, 584, 886
BT = 1 271, 784
HRHEI T = 1 237,888 |#EH! 240 m3
LY A7 iy b FRLE PEEME 5, 000m3AH ;
b 240 m3
0 Cabl- EHIRY £5Te) ;
H 1 240 m3
L O0-2)
Rkt A = 1 33,896 | VAT (8] 1K) 20 m2
BRI v+ R O + kit
LRI (B 1350) 40 m2
T i S O I BRI
AR B T = 1 478, 630
PR IR 2 ELBR T = 1 478,630 | ZZEHLER 230 m2
ImPA T E LA 100m28 7= Y fE A& 6t/100m2 &
JFt Ay BRE ;
L 2 1 34, 875
fiA T 2 1 34,875 | ANLIEZ 50 m2
74t
A =p T 2 1 17, 354, 069
EELT = 1 915,407 |FREHEY 1 X
+4)
HEL 1 X
+4)
b T 1 =X
0 Cabl- EHIRY £5Te) ;
e 1 =
L O-2)

TAZIEE LN )R




TH4 | BBA208 75 KEEEMETHT (P7) STF

TSy « TfE - FER B {7 ¥ & & # A bl A iR
T TR T (&4 BT = 1 3,517,606 |BLEE 42 m3
HIE 2.2m P 1.3m 24-12-25(20) (&) ;
i53i0) 3.22 t
SD345 D16~25 ;
EEN i) 1.76 t
SD345 D13 ;
7 VR AN = T 2 1 12,921,056 | 7" VFYAME )4 42 m
PIE2. 2m PNEL. Sm ;
HEKHEEY T = 1 1,195, 780
e+ T 2 1 71,236 |FRIEY 1 X
+4)
HEL 1 2V
+4)
T wb AT 1 X
0 CaBl- EHIRY £5Te) ;
e 1 =
B (O-27)
AT = 1 920, 824 | 7" VEyANUEMRNE 7 m
300X 300 ;
7" Vv A NUBRMAITE: 46 m
(P
300X 300 ;
NS 92 e
3 300/ L=500 ;
BT 2 1 37,680 |k -MEATE 2 m
(HEE)
$ 300 L=2000 ;
AR v T 2 1 166, 040 | B35GB A KM 1 ST
BUGFTRF 18-8-25 (f&i4F) 500X 500900 ;
BGHT K 1 (£
B HTHAF 18-8-25 (Fi4F) 500X 500X 600 ;
= 2 e

500X 500/ T-25 & VMEE 40 1k ;

TAZIEE LN )R




il
W
>
%
I

TH4 | BBA208 75 KEEEMETHT (P7) STF

TEHEX Sy - THE - R B {7 % & # il pall 2! R
EEEET = 1,012,219
TA7 7 Ml T X 1,012,219 | /@M (BE - BRI 321 m2
FEITyYr77 RC-40 A VW E 100mm ;
R (HEGE - BRI ) 318 m2
B EE A M-30 {1 FEVWE 100mm ;
g (I - BIF ) 318 m2
AR EET A2 (20) &H3EE 50mm 3. Omid ;
Bh AT L 2 266, 190
PEANIBA AT L 2 266,190 |7 =} V= 19 m
WAL YL Gr-C-4E 21maAS iR A 15 4
RCHE AT = 68, 770, 722
e+ T 2 1,049,220 |FRIEY 1 X
+4)
HEL 1 2V
+4)
HEL 60 m3
RN ALERRE
HmEEE 1 =X
T wb AT 1 X
W CHBE- IR L5 D)
e 1 =
B (O-27)
BT FTHL T 2 43,761,218 |FATHIHL 9 N
BiES 1500mm #ifk (REMHR) 3bm 30-18-25(2
0) (hEENY) W/C=50%LLF =350 ;
FEHA O-27) 1 X
+4)
e 1 =
T wb AT 1 X
W CHBE- IR L5
V5 YEALER 1 =X
-3 - E A2 s SN 7




it
W
=
=
I

TH4 | BBA208 75 KEEEMETHT (P7) STF

LKy - LA - FER W7 %

il il 2

ﬂlj“

MV A T (g3 AL E2V 1

TRIE A
10mbk - 15mAiiE 220m3LA 440m3K3w 24-12-25
(20) (EHF) W/C=50%LLTF ;
TRIE A
10mbk - 15mAiiE 220m3LA 440m3K3w 24-12-25
(20) (47 5
EINT]
SD345 D35 ;
EINT]
SD345 D29~32 ;
EINT]
SD345 D16~25 ;
e
D32+D32 ;
HER Bk & A5 N L
D22 Im@~2mEL T ;
HER Bk & A5 N L
D19 SmE~6mLL T ;
HER Bk & A5 N L
D19 2mE@~3mEL T ;
HER Bk & A5 N L
D16 2mE@~3mEL T ;
BEEFR =
¢ 250 X890 ;

253

102

16.

29.

13.

134

754

224

192

59

16

75

04

84

m3

m3

HEYE T 2V 1

2,374,613

e+ T 2 1

185, 246

i
T
HREL
T
b
+wp CEHR - ERIRY LET) ;
i
L (v=2")

s

L

2t

B

ELAma  JuN TR )R




il
W
>
%
I

TH4 | BBA208 75 KEEEMETHT (P7) STF

TEHEX Sy - THE - R B {7 ¥ = & # il pall A iR
e LT IS 1 1,473,200 |37~ BusE L ol m3
BRIy B T ;
PR EY L T = 1 35,360 | URMARNFERE 17 m
R 240240
TR AL T = 1 680, 717 | BoE M 91 m3
/) -hik Bk
By 91 m3
/) -hik Bk
B A S i 1 X
N
% T = 1 26, 826, 004
TR RO T % 1 10,070,476 | BAZH 1 A
TITH PSRRI & 9. 6m BIRMITIAR 9
m CEEERRGIHEE 9m ;
K T =X 1 13,334,288 |KHEY 1 X
+4)
HEL 1 2V
+4)
& MK E 1 2V
ERREER VRS ¢ 1800 ;
o5 1 2V
Mttt R 0> 5 FL110 X 110 4R (14E
) REIE
V5 IR T = 1 1,933, 000 | /K LB f 1 =X
B EHT =X 1 1, 488, 240 | A3 EE i B 1 =
RN X =X 1 118, 584, 886
B X 1 17,923, 706
B =X 1 5,128, 706

-5 - E ta2@d Ui




B
T
iy
i
I

TH4 | BBA208 75 KEEEMETHT (P7) STF

TEHX4y « Tfd - FER B Az % & #A i il R

TE R = 3,941,606 | B AAR Sy fRAH T B S H 1 =

I E R 1 =

HeffrE sy =X 66, 100 | ASAH/ R AR H R BR 2 1 =

TER R AT e A 1 =
BGRESGESE (5 L) = 1, 121, 000
B (FEEHL) = 12, 795, 000
Wi TR = 136, 508, 592
Bl gy = 44, 622, 000
T =5l = 181, 130, 592
— R A = 28, 699, 408
T =AM = 209, 830, 000

TAZIEE LN )R




